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Azt Five queshuony n all, soluiting allcast one question from
cachumt,
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UNIT -1
What is the ditferenece berwson guided optical

fibrc commumnicatjon svsteny and wnguided radio
ant Miomwnve Conumutucation systen. o

¥snlan the followings;

Ciraded index tibre

Made couphog losses

Leaky raode.

Numencal @perture J0

What 1s photoddatector? How does it works., 2

Wha = nmultipeth distorien in opucal fibres?
How dnes it aifect the bandwidth distance
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prodict? Explain how as tiome can be
impraved 0

Give vacaus traosmission and dzvices ussd for
optical communication. Discuss ane of them,  §

Why lotg wave length {135 pm ) is used for
aptical Shre commumcation? 5

UNIT -3

Distingquish between LEDs vuscd for dwplay and
optical canmunication applications. 7

Semivonductor tascrs are preferred to LEDS fue
wide area networks, YWhy? f

IHow optical umphfiers aud optics! repeaters
work? ?

Eiaborate DWDHK netwerk Inpolagies HQ

Why P-i-n diode & prefered over phote diode
i optical Hhe conumunication? D
LNJT -1

With Qe help of a suitcble diagiam, cxpluin the ISION
archistecnne. Also discuss the Jover luver ansmission
facilivies 1o which [§ 13 N [:T(l:lill:..»; ASCEES, 10
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JSIN - ISDN
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Exolan call nogotutions

{1l
waemelwodking,

Q¢ () Wha: do vou understand by LAPIY Foplun
“Iow conirol, etror control and Crior MCORLLLG
1(1

cotle in SSL.
How D-ISDN rerevence model works? Explain,
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UNIT - IV
Q.7  Taplainthe following:
a) ATM switching prneiple
b) ATM adaptation Javer funchions 2%

0.8 {2} Describe switches tvpes of ATR networg aril
differentiate wmong tham. 1¢

Chseuss the sdvantages of fibre basz=d nevworks,

(k)
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